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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
each question with Marker or pen ink on the answer sheet provided.
1.1. A muscular passage common to both food and air is called: 1« tlkffc‘-f A I U7 s A

(A) Pharynx J{ﬁ (B) Larynx Ji/ ) (C) Alveoli JU{’:}J (B) Trachea -Lfg/‘
2. The functional unit of kidney is: :g.é( idusde s 2
(A) Nerve »/ ‘ (B) Neurons L
(C) Nephron (s (D) Bowman capsule Jr¥s Ry
3. Which decreases the concentration of glucose in the blood? ?ct,t‘/({;):@ﬁ&ffui ¢P .3
(A) Calcitonin s (B) Testosteron @ e
(C) Glucagon ot 1 (D) Insulin d-‘-’:ﬁi
4. Bone Marrow is found in: . e tlllsgyy 4
(A) Compact bone et (B) Spongybone il
(C) Osteocytes sl (D) Chondrocytes (/La.k¥
5. Pollination is the transfer of pollen grain from: :Lgtm)-’ﬁ Kq’j‘y’g:l/c;,cﬁ%g 5
{A) Anther to stigma 4%:.. ﬁ (B) Stigma to anther . /;%Ic,ugf
(C) Sepal to petal {J.?c:..uﬁ?’ (D) Petal to sepal /uk":_d’”
6. After fertilization in plants the fruit develops from: ‘LVc—‘/, J‘{ MLJJ/!}//‘/’ Uy B
(A) Ovule wall :—J!;_’)Jdg»l (B) Ovary wall czb’;Jdml
(C) Petals < % (D) Anther <~ A ,
7. Which scientist presented the Law of Segregation? , ?Qru?u’i{jfdfvé.ubu:"/b‘f 7
(A) Charles Darwin uulﬁuﬂg (B) Lamark Y
(C) Joseph lister i3 (D) Mendal i
8. Alternate forms of genes are called: :ugélk(f/fd:ﬁf .8
{A) Chromatin JL;/ (B) Alleles ;Jz’f (C) Coci 3!(/ (D) Characters '/‘-[/
9. All the ecosystem of the world togather form the: , u"cbfd’f/ 4 l(V[.Lo 2
(A) Biosphere A% (B) Community &J (C) Habitate (D) Population u’J/L
10. Example of ectoparasite is: .c‘:_JVJ : w,:,,{ i .10
(A) Ascaris ;cf (B) Tapeworm p;_;; (C) Mosquitoes /f (D) Bacteria | ﬁ
11. Treatment through genes is called: i»f_—b‘?"z'g(éﬁﬂéu'ﬁ 711
(A) Chemotherapy Ql/;’f.’/ (B) genetherapy dl/u“’
(C) Radiotherapy Qlﬁgéz (D) Ligotherapy dl/f Ju )
12. Which of the following drug is obtained from plants? 5‘4‘:.&?(}2}] bc.u:;;:'l:Jquc.—JJ_}Zy/: 12
(A) Aspirin ¢ ¢4 ®) Insulin 2
(C) Opium s (D) Cephalosporin s
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3. Write short answers of any five part from the following.
i Write any two causes of osteoporosis. ii.
i What is meant by theory of special creation? 1
v What are traits?Give an example. vi. State the defi
vii Differentiate between compact bone and spongy bone?

viii Differentiate between homozygous and heterozygous genotypes.
4. Write short answers of any five part from the following.
i Draw a food chain of grassland ecosystem. ii.
i Write two effects of global warming. 141

v Wirite uses of formic acid. '

vii Differentiate between analgesic and antibiotic.

viii Define biotechnology and give an example of old biotechnology.
Section -1I -

Note: Answer any two questions from the following.

5.(a) What is the functional unit of kidney?Describe its structure.

(b) Describe the types of joints and give examples.

6.(a) Briefly describe neuron an

{b) Describe any four ways of natural vegetati

7 .(a) Define fermentation and write a detailed note on its different type

(b) Write a detailed note on the mode of action of vaccines.
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iv. What is temporary
vi. Why does society dislike a drug abuser?

d describe their types on the basis of their functions.
ve propagation in plants.
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Section-1
2. Write short answers of any five part from the following. ) 2x5=10
i Define bronchioles. ii. Whatis pneumonia?Write its symptoms.
i What are the effects of smoking on lungs? iv. Define excretion. o
v. Define Xerophytes. vi. What is Myopia?
vii Define mid brain. :
viii What is the concentration of glucose per 100m! of blood?
2x5=10

Name any two wind pollinated flowers.
iv. Differentiate between asexual and sexual reproduction.

nition of law of independent assortment.

2x5=10

What is industrial nitrogen fixation?

parasitism?Give two examples.1+1=2

1+1
9x2=18

05

04
2+1+1+1=05
1x4=04

S. 1+2+2=05
4 1+3=04
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each question
are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question with Marker

or pen ink on the answer sheet provided.

1.1. This brach of biology is about insects : : c‘_u"w:.:,Wé&?,Jd.)g 141
(A) Taxonomy $sL€  (B) Physiology JsL7 (C) Entomology 45k (D) Biotechnology (&/tE€#L
2. Example of micro molecule is : rf.dﬁ'd/dzgl.u?& 2
(A) Glucose ¥ (B) Starch .t (C) Protein s (D) Lipids 4/

3. In 1878 a French Army physician started work on the cause of  :/? Lsfr¥ K2 bonSL i f’mg&uﬂ(ﬂ/’u: 1878 .3

malaria :
(A) Ronald Ross (5.4t (B) AFAKing e l.oi el
(C) Laveran oy’ (D) Mendel Ji»

4. The group of nearest genera is called : :c‘z.t‘ﬂz(_;: ¥ /!’-L{"} 4
(A) Order 3,7 (B) Phylum (‘flé . (C) Class ¥ (D) Family J’f

5. Itis found in cell wall of fungi : ‘ tc‘-t'lg,&gtﬂd’:df&m?’;/ 5
(A) Protein s/ (B) Chitin ¥ (€) Fat & (D) Celiulose sk

6. The stalk of thylakoids is called : L gL G 6
(A) Stroma s> (B) Cristae (©) Granum (=S (D) Chloroplast &iss

7. During mitosis one cell divides into daughter cells : Zu.‘.')ﬁliq_tnﬂ.j Z)r.,guu”éu/ A7
(A) Two » (B) Four /& ©) six £ (D) Eight 47

8. Tumors are produced as a result of errors in : :q_ré‘__n!,s)/x‘c._?xfu,}”u:w .8
(A) Meiosis U1 ‘ (B) Mitosis U7
(C) Binary fission *154 ' (D) Multiple fission >4

9. The enzyme which acts on lipids is : ' :.;_.b/J‘zjzgﬁf'ly’lu .9
(A) Amylase 23!.;! (B) Pepsin ¢+ (C) Lipase (v (D) Protease ‘4!3;4

10. The loss of electrons from atom is called : :q;ifbv'lé'}l/‘gic_,}:l .10
(A) Reduction wy,«-_‘_/ {(B) Hydration ‘:f-ﬁfg (C) Oxidation ‘ﬁ;/ T (D) Electrolysis r‘fw}‘?!

11. The second function of oral cavity is the grinding of food by teeth : g_bW/ L’/,,.,.f.ﬂzic.»qfui’b(bf l/uK&[JJ:I .11
is called :
(A) Mastication /%" (B) Lubrication j‘ff' (C) Absorption ois (D) Defecation ¥

12. Pumping action of heart was discovered by : ; gf&&udfb’é_.f.:»;ufdd; A2
(A) Robert Hooke {2l (B) Thomas Cooley &/
(C) Robert Brown f3lesl, (D) William Harvey < s
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Section-I

2- Write short answers of any five part from the following.
i. Write the role of nasal cavity. ii.
iii. What are the causes of lung cancer? iv.
v. Write the major causes of Kidney stone. vi.
vii. Write the functions of thalamus. 2=1+1
3- Write short answers of any five part from the following.
i. What is meant by tendons? ii.
iil. What is muitiple Fission? iv.
v. What is meant by translation? vi.
vii. Define the Mendel's Law of segregation.
4- Write short answers of any five part from the following.
i. Define Biosphere. ii.

iii. Define vaccine. iv.
v. What is recombinant DNA? Vi.

vii. What is morphine?

viii. Define intraspecific competition and inter specific competition.
Section -II

Note: Answer any two questions from the following.

5. (a) What is dialysis?Explain its methods.
(b) Describe the components of human skeleton in detail.
6. (a) What is Neuron?Describe the structure of Neuron.
(b) Define pollination.Describe the types of pollination.
7. (a) Define genetic engineering and describe its objectives.
(b) Define medicinal drugs and describe its sources.

viii.

viii.

2x5=10
Define diaphragm.
Define glomerular filtrate.
Define stimulus and response. 2=1+1
Define blind spot.

2x5=10
What is meant by arthritis?
What is meant by endospores?
What is loci?
What is meant by true breeding?

2x5=10

Define ecological pyramid.
Define Pollution.
What is meant by human genome project?

9x2=18

1+4=5
2+2=4
1+4=5
2+2=4
1+4=5
1+3=4
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